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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3 : R 797 % a7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

1. F=fofeg § 9 f9-T1 dFeEs a|
gfraied dew & gE 7@ e ?

(1) =™ H +E|
(2) u¥E 1 e
(3) TR A1
(4) MBI @ E|

2. ‘HamHdh gE q= H gEvYH fHEA
g fha 7
(1) %eie @ &b
(2) B0 wd g
(3) 9 Td HHH
(4) R @ g

3. e § @ H9-a1 SUFM SR
STRY Sl % FGER HN [GLATOT BT
STl HARFM Al & g HROT &
S & T UX STERG © 7

(1) AAIATCIHS IIFH
(2) FIERAE! IIH
(3) JafRTH FPRLHD IUTH
(4) 9gTE UM
4. ‘Ja AP GUGT B GEgEH fHER
R A ?
(1) %2 s
(2) 2o Tdo UMHEES
(3) TsaS =@ e
(4) UrEwE

Level-2/8107

1.

Which of the following is not the
main law of learning as prescribed
by Thorndike ?

(1) Law of Exercise

(2) Law of Effect

(3) Law of Readiness

(4) Law of Generalization

Who first introduced the word

'Emotional Intelligence' ?
(1) Fredrick and Kirk
(2) Henry and Peter

(3) John and Cronback
(4) Mayer and Salovey

Which of the following approach is
based on analysing the behaviour of
disabled child and find out the root
cause of his/her learning deficiency ?

(1) Psychoanalytic approach
(2) Behavioural approach

(3) Individualized
approach

instructional

(4) Multisensory approach

Who first introduced the concept of
"Latent Learning" ?

(1) Kurt Lewin

(2) E. L. Thorndike

(3) Edward Chace Tolman
(4) Pavlov

P.T.O.



[A]

10.

‘TEEEE & T A B o 7
(1) faferEm s+

(2) Sto Hto arzE

(3) T &

(4) TEqe AT

frefefe & @ @9-@ e
TER® T IaTT & 7

(1) TR (2) q@

(3) T8 (4) g

g6 d X F BN g of®

uRadw, e @ - ofawer

g 3 oo & o E 7

(1) qd srearere

(2) UsT fpsmRraen

(3) TTERITEI

(4) 9T:EY B

%mmw AP H FF A
?

(1) ‘TE TR H AT

(2) M R Bl AT

(3) ‘TE-AN T A ST

4) ' TBR H I

“TRYAREAT S M BFar o e &

gm? TR J B9 oY T aar

(1) 63 11a9

(2) 1282099

(3) 38 6Ty

(4) 187E §3 a9

frfafed & @ #W-a1 e @

e s 7eff e ?

(1) |iad # e

(2) Jafre = & Rsr

(3) Vet 1 uHETdr @ s

(4) [Aldse 9 9MMg SfBRATel @
Harel F fosTa

Level-2/8107

[4]

10.

Who was the main propounder of
'functionalism' ?

(1) William James

(2) J. B. Watson

(3) Clark Hull

(4) Edward Tolman

Which of the following is example
of Innate Motive ?

(1) Award (2) Hunger

(3) Punishment (4) Incentives

In which stage of development, the
sexual changes that occur in the
child's body starts to appear ?

(1) Early childhood

(2) Later Adolescence

(3) Adulthood

(4) Puberty

What is the other name of classical

conditioning ?

(1) Type S conditioning

(2) Type R conditioning

(3) Type S-R conditioning

(4) Type U conditioning

What is age group given by Erikson

for the stage "industry vs

inferiority" ?

(1) 6to 11 years

(2) 12 to 20 years

(3) 3to 6 years

(4) 18 months to 3 years

Out of the following which is not

correct principle of 'Development' ?

(1) Principle of continuity

(2) Principle of individual difference

(3) Principle of uniformity of pattern

(4) Principle of proceeding from
specific to general responses



12.

13.

14.

. frefefeg & @ f-ar ‘omifeee @
are (eR) ‘<% 3| @Ol 3
9§ S ST 7

(1) HIBRAE

(2) gENER

(3) yEaE

(4) TReTCEaR
Frfifed & & B-a1 oD A
e P T FET 8 ¢

(1) GRS argar
(2) G qRuead
(3) STHIGLa™

(4) rgesiiaa

ded G PR gRE TOEe &
A 1 e foT SR T ?

(1) 8 ¥ 12 a¥ % AMY® AV a
Fradl & e

)4 8§ 8 q§ F AMGH AN a
Fradl & e

(3) 12 ¥ 15 ¥ % 9NES QAT a
Fraal & T

42 ¥ 4 7§ F qWGHE I A
Fraal & T

fr=ifoifeg & @ fN-a1 ‘TR @l
ik & fou @t s w9 © 7
(1) e > W@l - RUE —

OIRE]

(2) T — Jmte —» WRUE —
AT

(3) Tl — wRue — Wt —

Eelien]
4) T - ofaefe —» @™ —
BIECIED
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11.

12.

13.

14.

[A]

Which of the 'thoughts of school' in
Psychology is also called as 'Black
box theory' ?

(1) Behaviourism

(2) Structuralism

(3) Functionalism

(4) Gestaltism

Which of the following is not the
characteristic of Good Mental
Health ?

(1) Ability to adjust

(2) Emotional Maturity

(3) Self-confidence

(4) Intolerance

Scale I in Cattell Culture Free

Intelligence Test was prepared for
whom ?

(1) For 8 to 12 years
deficient person

mental

(2) For 4 to 8 years mental deficient
person

(3) For 12 to 15 years
deficient person

mental

(4) For 2 to 4 years mental deficient
person

Which of the following is the correct

logical order for 'process of creativity' ?

(1) Insight —  Preparation —
Incubation — Verification

(2) Preparation — Insight —
Incubation — Verification

(3) Preparation — Incubation —
Insight — Verification

(4) Preparation —  Insight —
Verification — Incubation

P.T.O.
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15.

16.

17.

18.

19.

TR ® HF-9 qrEm & e,
gﬁwaﬁaﬁwawﬁmw
?

(1) 3R® AfasT™

(2) TE A

(3) ofiifsa weifas™

(4) fopraTEs TR

fF O & AgER aWE B
e # UR&eqAel h HHIM @l

qar difhsd Rl & SMYR W foER
H B QI I HT AT 8 °

(1) 092 a9
(3) 69 11T9

(2) 296ay
@) 1191538
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15.

16.

17.

18.

19.

Which of the following terms is not
related with the operant conditioning ?
(1) Insight

(2) Reinforcement

(3) Spontaneous Recovery

(4) Extinction

Who introduces 'Learning Disable’
word very first for the children
suffered from various learning
problems ?

(1) Heward

(2) Samuel Kirk

(3) Van Riper

(4) Birch

Which of the following Psychologist
is not supporter of views about
"Psychology as a Science of Soul" ?
(1) Plato

(2) Aristotle

(3) Descartes

(4) Wundt

In which branch of Psychology there
is a scope of study of Telepathy,
Rebirth etc. ?

(1) Physiological Psychology

(2) Clinical Psychology

(3) Parapsychology

(4) Developmental Psychology
According to Jean Piaget in which
stage child is able to understand
Hypothesis and getting thinking
ability on the basis of logical
statement ?

(1) Oto2years (2) 2to 6 years
(3) 6to 11 years (4) 11 to 15 years



20.

21,

22,

23.

24.

fr=ifoifeg & @ f9-a1 Ffas 99g
% e, S, A, Toeieer g
T STEHIT BT B 7

(1) AMIQEE! AR
(2) GSHIHS AN
(3) STAMNY A
(4) St AN

frefofeg & § @9-w1 afka @
YT ey R 787 91 1§ ?

(1) g

(2) FHATHSD

(3) WD

(4) TRE

S fEe & ogaR e faws
HTE QI AT w Y
e 8 7

(1) 0¥ 599

(2) 13918 a9

(3) 5T 8Ty

(4) 11313 a9

freifofeg & & ®F-a1 ofrm orem
TRl T T FE T’ ?

(1) coefienTer JHIiaan
(2) Wik STRear
(3) THIRYT TN
(4) STERmEr

THR AR Hadl ard Sl Bl s
qfeer 7 Bt B 7

(1) 509 60

(2) 36951

(3) 209 35

(4) 209 -
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[7]

20.

21,

22,

23.

24.

[A]

Which of the following Psychology
studies about man's thinking,
memory, language, perception etc. ?

(1) Humanist Psychology
(2) Cognitive Psychology
(3) Abnormal Psychology
(4) Clinical Psychology

Which of the following is not the
type of personality given by
Kretschmer ?

(1) Athletic

(2) Aesthetic

(3) Asthenic

(4) Pyknic

What is the age group for the moral
development stage "Heteronomy
Reciprocity" given by Jean Piaget ?
(1) Oto 5 years

(2) 13 to 18 years

(3) 5to 8 years

(4) 11 to 13 years

Which of the following is not the
characteristic of Learning Disabled
Children ?

(1) Perceptual effectiveness

(2) Emotional instability

(3) Disorder of attention

(4) Impulsivity

What is the 1.Q. Range of severe
mental retarded child ?

(1) 50to 60

(2) 36to051

(3) 20to 35

(4) below 20

P.T.O.



[A]
25

26.

27.

28.

29.

30.

. o # @N-S smen ¥ gum
?ﬁrﬁ%ws&r/ﬁwmﬁéﬁ
?
() 281499 (2) 15918 aY
(3) 10" 1299 (4) 19721

frfafag & @ @9-w1 g
feraT 1 WPR FET R ?

(1) fErd o

(2) g ferec

(3) TS v

4) @A foma

frfofeg & & #9-91 #=QsS

;;rﬁaﬁﬁﬁr Tfes & guds T8
?

(1) »rFe 2) f=l

(3) ot (4) TR Hid

‘AR % Yads diF I ?

(1) faferm s+

(2) faferm O

(3) fawen goe

(4) IR B¢

=g & @ d9-a1 a STRmRen

o’ O Gefg 7R ?

(1) TETHA ~ (2) TG

(3) HaT (4) Jrcared

‘I H HAT fHE g9 UgR @ S
g B ?

(1) ferpser

(2) g

(3) SR

(4) g

[8]

25.

26.

27.

28.

29.

30.

In which stage of development,
interest/friendship develops towards
same sexual groups ?

(1) 12to 14 years (2) 15 to 18 years

(3) 10to 12 years (4) 19 to 21 years

Which of the following is not the
type of Realistic thinking ?

(1) Convergent thinking

(2) Creative thinking

(3) Evaluative thinking

(4) Autistic thinking

Out of the following which
psychologist was not supporter of
'Humanist Psychology' ?

(1) Freud (2) Maslow
(3) Rogers (4) Arthur Combs
Who was the propounder of

'structuralism' ?

(1) William James
(2) William West
(3) Wilhelm Wundt
(4) Wilhelm Hunt

Which of the following component
is not related with the 'Motivation
Cycle' ?

(1) Need
(3) Emotion

(2) Drive

(4) Incentive

The 'emotion of fear' associated with
which basic instinct ?

(1) Repulsion

(2) Pugnacity

(3) Appeal

(4) Escape

Level-2/8107



[A]

AW -1l / PART - I
A7 (5=} wd i) / LANGUAGES (HINDI & ENGLISH)
[ &Y/ HINDI ]
e : =& 7971 % G 37 % [ qaq SfEd ey g
31. %9 a7 | deugEs AT H TAN 35. 77 w9 fawe g -
g ? (1) R B R asi = geas
(1) T ST Al 2 (2) T & A = g
(2) ST TET F A WA B (3) TE & R QT = TS
(3) T TG 4 =W @ (4) T & R qUSY = FwEvey
(4) Hies STTehe SoTET Sadl 2
36. TeTg BRAT 78T ©
32. ‘% W YR UE TE © (1) s
(1) fourgs R
(2) TH (3) g
) Fre= (4) TIferrT
(4) ST
o 37. qUI=ERCT & gfte |} §F7 T
33. ford fomca § Fre gieair o= B 7 0 i o - 2
(1) g @ 7 % - =i
2) fred 3) T, & - ag
(3) WX
@ B 4) 3, g - gt
s 38. o9 faeheq § ‘o1 SUERT &1 YGNT 78T

e R @ e @ gy faeed
gﬁﬂ'\f:

(1) ARt = A1 &% Qi

(2) MR = T (af) & dR

(3) geaem = gfeal & fow o™

(4) Siigear = Sl ) 41

Level-2/8107

g ® 7

(1) sTgEr
(2) ST
(3) IR
(4) Sgamte

P.T.O.



[A] [10]

39. ARii 3 § o7ger IE YT ¢ 43. i foeBT @ e q org7T gT ¢
(1) feR9= (1) B + 35 = Firg
(2) FASTHREST 2) gft + 3= = gi=
(3) et (3) AR + 3= = apefie
(4) Toumat (4) T+ 30 = WHIA
40. AMLEFATEH FAAH e AR GO 44. ‘TEA WRA & U AW 817
() ¥ 45 g& @ & 3= g @ A 5 g B ®
Il (1) IRomedes foparm
(2) ¥ § B FA B (2) wigH e
(3) @A el TR Ul BT Hebell (3) % B
g
! (4) foramdes ©sm
(4) 98 =med & % A Haa o TBN
45. TOT B 9 o7 e :
41, g IuHI-IRT wE g = ™
i (1) 8F + 3Nl = el
(D
(2) Y + b = A
(2) @& o .
(3) 99 + Sfdr = qarar
(3) &9 . .
(4) 9T + TG = HIE
(4) Greq
42. T8 w5 # @S @iy B g el
g7
(1) arfisax
(2) e
(3) STt
(4) goitqET
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46.

47.

48.

[11] [A]
[ S135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of the sentence 50. Choose the correct tense form :
which is incorrect : _
His newfilm is really worth Nanny died last wegk. She .........
a b o from cancer for some time. (suffer)
to be seen. (1) suffering
d
(1) a @) b (2) is suffering
(3) ¢ “4) d (3) had been suffering
Select the appropriate modal for the (4) suffers
expression given :
When ... we expect you ? 51. Select the appropriate modal for the
(possibility) expression given :
(1) may (2) will If you do that again you ........ be
(3) have to (4) dare punished. (threat)
Select the correct option (phrasal (1) may
verb) for the underlined word : (2) shall
Most of the patients respect Dr. John
. (3) can
for his kindness.
(1) payback  (2) zest for (4) ought
(3) make over  (4) look up to 52. Choose the correct option for the

49.

Choose the correct meaning of the
underlined words :

The baby monkeys ran every which
way.

(1) up
(2) straight
(3) in different directions

(4) down

Level-2/8107

following :

An  instrument for

earthquakes 1s :

detecting

(1) A Fathometer
(2) Lithoscope

(3) A Seismograph
(4) Cardiograph

P.T.O.



[A]

53.

54.

55.

56.

Choose the correct meaning of the
underlined words :

It's a pity you don’t like football. But
each to their own.

(1) everyone has different opinions
(2) everyone has similar opinions
(3) each and all are same

(4) each one likes football

Choose the correct option to fill the
blank :

Immediately after the operation he
could see nothing vague
shadows.

(1) aslong as

(2) however

(3) but

(4) notwithstanding

Select the correct option (phrasal
verb) for the underlined word :

I don't know how we are going to
cope with the cold during winters.

(1) make up for

(2) put up with

(3) put down

(4) setup

Select appropriate preposition to fill
in the blank :

They walked the footpath
until they came to a bridge.

(1) into

(2) since

(3) along (4) in

[12]

57.

58.

59.

60.

Choose the correct tense form :

My car ........ for the third time since
I got it. (break down)

(1) break down
(2) has broken down
(3) was broke down

(4) has broken

Choose the part of the sentence
which is incorrect :

James is busy to prepare
a b C
tonight's dinner.
d
(1) a 2) b
3) ¢ 4) d

Choose the correct option to fill the
blank :

The room was empty ....... for a chair
in the corner.

(1) except
(2) and
(3) between

(4) behind

Select appropriate preposition to fill
in the blank :

The programme was broadcasted ......
the world.

(1) in
(3) onto

(2) off
(4) across

Level-2/8107
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[A]

HET -1/ PART -1l
qH 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

Ui aAfk™l P, Q, R, S X TH, T, R

M S & Bler 81 Q, T Rigww aw=

T&?f%mi?bﬂ Ffed § T 81 R
e § BleT 81 IFH A HF q9d

w%?

(DR 2) Q

3) S 4) P

dF demt 203 : 4 F oguE | B

gﬂ%aﬁaﬁrqﬁ%%m‘r @ g

(1) 14,21, 28
(3) 8,12, 16

2) 12, 18,24
4) 4,6,8

A, X & U E B, Y 3 9@ 81 X
M Z H 79 Y 8 = & |
%ﬁ:?r—waswmawwﬁw:@?
(1) B, Z & =@l 2
(2) X, Z® 91 2
(3) B, A®I T 2
4) Y, A® IF B

AR @ H A 1 R T e,
i a8 aRer Qe § geet 5 fl
Ior &1 Y a8 qd Rem § gt 2
Rl o 8, SE& 918 a8 JaX fasm
I geat 9 fdl s@ar 231 o a8
gRfE g @ e g @St © °
(1) 4 fpr (2) 5 fepelt

(3) 7 feprt (4) 9 fert
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61.

62.

63.

64.

Among five persons P, Q, R, S and
T, T is shorter than R and S. Q is not
as tall as T but taller than one
person. R is shorter than one person.
Who among them is the tallest ?

(1) R 2) Q

(3 S 4) P

Three numbers are in the ratio 2 : 3 : 4.

The sum of their cubes is 33957,
then the numbers are :

(1) 14,21,28 (2) 12, 18,24
(3) 8,12,16  (4) 4,6,8

A 1is father of X; B is mother of Y.
The sister of X and Z is Y. Which of
the following statement is
necessarily not true ?

(1) B is the mother of Z.
(2) X is the sister of Z.
(3) B is the wife of A.
(4) Y is the son of A.

A person walks 1 km towards East
and then he turns to South and walks
Skm. Again he turns to East and
walks 2 km, after this he turns to
North and walks 9 km. Now, how far
is he from his starting point ?

(1) 4km (2) Skm
(3) 7km (4) 9km

P.T.O.
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65.

66.

67.

68.

69.

i e A O R 1 ) L

DHL, PTX, BFJ, .....
(I) CGK (2) KOS
(3) NRV 4) OVZ

12 969 Th ®E & T & F 18
R aa ¥ wafs 12 Raat ot a9 3

%maﬁm&qﬁrﬁmﬁﬁr

Fd H 10 gey o 8 Rear wre-wn
F FXI g fhe R 7 qor  ?

1

1) 6 @ 7
1

13— 4) 14
3) 32 4)
Teh Tl &l Bedl & gl B W 36
MG | fobaq ufcierd gfes &Rl ?
(1) 200% (2) 450%
3) 550% (4) 700%

T AR TF a8 B % 24 F FAO ©
T IE] & Td B SO S A9
FHAC &, A 9% B AE I ©

(1) %15 ) 217

(3) %18 4) 20

15 fkE & T g8 H, 7 R
Ted &, 8 SISl Ued ¢ oMK 3 &S A
W TE ed 8 fem el R
AR AT AT Ted § 7

(1) 0 2) 3

(3) 4 45
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[14]

65.

66.

67.

68.

69.

Find the next term of the following
letter series :

DHL, PTX, BFJ, .....
(1) CGK (2) KOS
(3) NRV 4) OVZ

12 men take 18 days to complete a
job whereas 12 women in 18 days

can complete % part of the same job.

How many days will 10 men and 8
women together take to complete the
same job ?

1

(1) 6 (2) 75

1
ORER

4) 14

The radius of a sphere is doubled.
What percent of its volume is
increased ?

(1) 200%
(3) 550%

(2) 450%
4) 700%

A dealer sells an article for ¥ 24 and
gains as much percent as the price of
the article, then the cost price of the
article is :
(1) % 15
3) %18

2) %17
4) 320
In a group of 15 people, 7 read
Hindi, 8 read English and 3 read

none of these language. How many
people read Hindi and English both ?

(1) 0 2) 3
(3) 4 “4) 5



70.

71.

72.

73.

74.

R p T ¢ IRAT AW T g
?“ﬁ ptgds, @ p T g B
e g

() p=24=2@ p=tig=2
®) p=ti=3 @) p=tia=

A% uh FMiREd T # 3% Fay @
" #@ A I H@ THIE AN
101,50 &, @ S AN H G
g & foT aXa &7 fobaem & ?

(1) T50 (2) T 100
(3) T 125 (4) T 147

et @ ot § g@ e S BT
A, CD, GHL 7, UVWXY

(1) LMNO (2) MNO

(3) MNOP (4) NOPQ

Th TGS B Th BT 108° qUT AT
A BT IUEX 31 AN SEY Hin J
T H HM 3T B -

(1) 63° (2) 74°

(3) 84° (4) 96°

GTWH,WQT%WET%@TW
% S A B T, g B q@ @
R B TH, aﬁa%wﬁ@f
Rem & 3 7

(1) Iax-qieaH
(2) e

(3) aRr-gd
(4) I
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70.

71.

72.

73.

74.

[A]
If p and ¢ are rational numbers and
3445
3-45

and q are :

=p+q\/§, then value of p

=2 p=

(1) p= 5

g =

3) p= (4) P=7:9=

l\.)I\] \IIN

NI\] [\CNIEN|
N 9o

If the compound interest on a certain
sum for two years at 3% p.a. be
% 101.50, then what would be the
simple interest on the same sum for
same period ?

(1) 50
(3) X 125

(2) T 100
(4) T 147

Find the missing term of the
following letter series :

A, CD, GHL, ?, UVWXY
(1) LMNO (2) MNO
(3) MNOP (4) NOPQ

One angle of a quadrilateral is 108°
and the remaining three angles are
equal. Find each of the three equal
angles :

(1) 63°
(3) 84°

(2) 74°
(4) 96°

Amit is west to Prakash and North to
Sumit. Tarun is in East of Sumit.
Tarun is in which direction with
reference to Amit ?

(1) North-West
(2) South
(3) South-East
(4) North

P.T.O.



[A]
75

76.

77.

78.

79.

80.

. Ji& DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, @ CAR =?
(1) 3 (2) 6
(3) 8 4) 16
=T 9o & 77 He S i
69, 55, 26, 13, 5
(1) 5 (2) 13
(3) 26 4) 55
Iy =4 =§ G|

1 1 1
—t—t—=4, W x WA
2x 4y 4z
7 7
1) — 2) —
(D T (2) 17
7 7
3) — 4) —
(3) T 4) >3

80 f5Hl BN # UH @Sl YEH 60
fpet, 40 fobr ofey ger qer 9w g 20
feft i der &t i | I 51 wR e
=T H Sl 9 R

(1) 24 FRHT Ui geT (2) 30 fBHT Ui et
(3) 32 Tt Ui geT (4) 36 hH Ui get

30 Hi & GO & Uh Y Q) 90
H TS 0.80 H 9 g R W
24 H B TR B TEE B AR

TR FI TRDE B §HT 8 -
(1) 48 % 2) 728
(3) 156 17 4) 1921

& U # oo 9 B8R & 169
WM W T 3 [9HE T8 8 9
183 ®N W B MU ofvw §
A 113 wH W R foww
T B # X e W W R
et & fere At @S g @ !
(1) 41 (2) 42

(3) 48 (4) 49

q
e
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75.

76.

77.

78.

79.

80.

If DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, then CAR = ?
(1) 3 (2) 6
3) 8 4) 16

Find the wrong number in the
following series :

69, 55, 26, 13, 5
(1) 5 (2) 13
(3) 26 4) 55
If 2'=4"=8 and i+i+i=4,
2x 4y 4z
then the value of x is :
7 7
1) — 2) —
(D T 2) 7
7 7
3) — 4) —
3) T “4) >3

In a journey of 80 kms a train covers the

first 60 kms at 40 km/hr. and the
remaining distance at 20 km/hr. The
average speed for the whole journey is :

(1) 24 km/hr.  (2) 30 km/hr.
(3) 32 km/hr.  (4) 36 km/hr.

A swimming pool, 30 m long has a
depth of water 0.80 m at one end and
2.4 m at the other end. The area of
the vertical cross-section of the pool
along thezlength is: )
(1) 48m ) (2) 2m )
(3) 156 m 4) 192 m

Anil is standing at 16th position
from the left end in a row. Vikas is at
18th position from the right end.
Gopal is 11th from Anil towards the
right and 3rd from Vikas towards the
right end. How many persons are
standing in this row ?

(1) 41 (2) 42

(3) 48 4) 49



81.

82.

83.

84.

85.

fifiRaq & ¥ 8®e (HAFED) %
TR § B9 @R ?

(i) 98 P IURN H T8 BT 3
(i) 98 P IURN H TUOF HIT ol
(iii) T8 B SAEM H Gl B ol
7&7 F< H TI BT

(1) () AR (i)

(2) & (i)

(3) (@) 3R (iii)

4) (), (i) 3R (iii)

e § #El TR-aw faeiia fE
ST TR ?

(1) g (2) HreT

(3) TGTR (4) &9t

‘TR e Gl LHAC BRI &
fhg et d i T R 7

(1) BER (2) HE

(3) &dh (4) STl

‘TR TR STEEH!’ & T ®

(1) Sfo FIE Fad

(2) &t 7Y A

(3) Sfo HMEb T

(4) =t O AR

el omEe % SR # fAithd el

W @R i -

(1) aRamT & ga e B onE
gﬂ?ﬁ?{ ag | § wEga qls]
|

(3) 7& g= @@ A=A A< HE A
Teell Afea 2

&l IR YA

(1) %o (o7) @& B

(2) %I (9) T 2

(3) (81) AR (9) 3! T &

(4) (31) &R (39) 3 &
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81.

82.

83.

84.

85.

[A]
Which of the following are true
about the functions of HAFED ?
(1) It procures agriculture products.
(i1) It markets agriculture products.
(ii1) It supplies agriculture inputs.
Choose the correct code :
(1) (1) and (ii)
(2) only (i)
(3) (i) and (iii)
(4) (1), (1) and (iii)
Where in Haryana 'City-forest' is
being developed ?
(1) Murthal (2) Sohna
(3) Yamunanagar (4) Hansi

'Air Shuttle Service' has been started
from which city of Haryana ?

(1) Hisar (2) Karnal

(3) Rohtak (4) Ambala

The President of 'Haryana Sahitya
Academy' is :

(1) Dr. Kumud Bansal

(2) Sh. Manohar Lal

(3) Dr. Ashok Batra

(4) Sh. Rana Oberoi

Consider the following statements

about Minty Agarwal :

(a) Minty Agarwal, a native of
Haryana, is a Squadron Leader
in Indian Air Force.

(b) She is the first woman, who
received Yudha Seva Medal.

Choose the correct answer :
(1) Statement (a) is true

(2) Statement (b) is true

(3) Both (a) and (b) are false
(4) Both (a) and (b) are true

P.T.O.



[A]

86

87.

88.

89.

90.

: AT ST AT JieX AT
(1) siig # (2) ST H
(3) gHYT § (4) FoEA |
S 2020 H, oIfoReq # W/

HI-G TRUMGH B TR IRE &
WY X HHG A 4 7

(1) T (2) TN

(3) T (4) o

1857 & fa5ie & 99T FooK H A
I o1 ?

(1) STgea &t

(2) a1 SEYE

(3) TEHEA

(4) foara sl

HAMH & AU ARG B G
WM FaRYd ©

(1) oT<re fofet o

(2) IR it |
(3) HHae ol H
(4) o fo 7

G N § §8d aml ARdl @
RECIEEEE

(i) SfgEfd (i) e

(iii) FHEE (iv) 3=

7&7 F< H =TI BT

(1) (i) 3 (i)

(2) (i) 3 (iid)

(3) (@), (iii) 3 (iv)

@) (), (ii), (iii) 3 (iv)
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86.

87.

88.

89.

90.

Ancient Bhawani Amba Mata temple
1s situated in :

(1) Jind
(3) Sonipat

(2) Ambala
(4) Kurukshetra

In January 2020, which of the
following Nagar Palika was raised to

the status of Nagar Parishad
(Municipal Council) ?

(1) Rania (2) Jhajjar

(3) Beri (4) Sirsi

Who was the Nawab of Jhajjar
during the uprising of 1857 ?

(1) Abd-ur Rahman Khan
(2) Nawab Shamsuddin
(3) Sadruddin

(4) Bisarat Ali

The original founding place of
Topara Inscription of Ashoka is
located in :

(1) Ambala district

(2) Yamunanagar district
(3) Kurukshetra district
(4) Kaithal district

Identify the rivers, which flows from
Mahendragarh district :

(1) Ambumati (i1) Dohan
(ii1) Kasavati (iv) Indori
Choose the correct code :
(1) (i) and (iii)

(2) (i) and (ii1)

(3) (1), (iii) and (iv)

4) (1), (i1), (ii1) and (iv)

Level-2/8107
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[A]

AT - IV / PART - IV
QR f3rer / PHYSICAL EDUCATION

3% : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

C1 1 2 I o R 1 2 11 G
JETET B 7

(1) gHifes Imam

(2) SIS ™

(3) STEHECh AH

(4) STEHICI™S 2™

S g 9  duw @ oy,
(1) 9RO T Sfies Ge

(2) ARG dRSe 99

(3) MRA T JTER

(4) AT T ST TorEt

h X o FEie uee e
Bl ®

(1) a-@ ¥ ded @l

(2) el & B TR Bl

(3) dtcisi § gfes @l

(4) e § wH @

AN & &R B © 7

(1) o g+

(2) Hge

(3) "l aremH

OREVRGEIN]
gﬁﬁww@aﬁwmcrﬁam
(1) T SAAH B

(2) TS I o9 H

(3) T UEF ©F H

(4) SHeH TEH S H
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o1.

92.

93.

94.

95.

Pushing against wall is an example
of :

(1) Eccentric exercise

(2) Isometric exercise

(3) Isokinetic exercise

(4) Isotonic exercise

Two peepal (ficus religiosa) leaf
upside down is the logo of :

(1) Wild Life Institute of India

(2) Indian Archery Association

(3) Bharat Ratna Award

(4) National Anti Doping Agency
One meter 80 centimeter is the
standard height of :

(1) Poles in Kho-Kho

(2) Corner flags in Football

(3) Antenna in Volleyball

(4) Stumps in Cricket

Who is the author of Yoga Sutra ?

(1) Kapil Muni

(2) Sampoornanand

(3) Maharshi Vatsyayana

(4) Maharshi Patanjali

36th edition 37 discipline symbolises

of ?

(1) Tokyo Olympics

(2) Hangzhou Asian Games

(3) Goa National Games

(4) Birmingham
Games

Commonwealth

P.T.O.



[A]

96.

97.

98.

99.

G AT B 99y fFH @9 9 B 7

(1) g (2) FES
(3) AT (4) FE

=Th
Uit 1 faewe A 2T B

2020 & ded ¥ @@ FE @l

e Hig il ¥

GIIREI dtfeeer 11
L 9 "B 1. & o
afean I o9tFr 97
M SO g SERSIREEEH
N ol 3@ S
O w6y e Ul SHF @R
IV. 8vEr efare

(1) L-IV, M-I, N-I, O-1I1
(2) L-1I, M-I, N-1V, O-1I1
(3) L-1IV, M-I, N-II, O-1II
(4) L-II, M-IV, N-I, O-1II
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96.

97.

98.

99.

Sandeep Narwal is associated with
which sport ?

(1) Kho-kho (2) Kabaddi

(3) Weight lifting (4) Wrestling

A type of training session named
from Swedish Word meaning "Speed
Play", is :

(1) Fartlek workout

(2) Interval training

(3) Circuit training

(4) Playway training

Select the statement which rules out
the myth stating that, if women do
weight training they may develop
masculine looks :

(1) Because women dietary habits
are not alike men.

(2) Women will not bulkup like man
because of the genetic makeup
and low level of testosterone.

(3) Because women's sentiments
and feelings are not alike man.

(4) Because their menstrual cycle
refrains them in developing muscles.

Match the correct combination for
2020 :

Column I Column II

L  Om Prakash 1. Dhyanchand
Dahiya Award

M Netrapal II. Tenzing Norgay
Hooda National Adventure

N  Anita Devi Award

O  Manish II.  Arjun Award
Kaushik IV. Dronacharya Award

(1) L-IV, M-I, N-I, O-III
(2) L-TI, M-I, N-TV, O-III
(3) L-IV, M-I, N-II, O-III
(4) L-II, M-IV, N-I, O-IT



100

101.

102.

103.

104.

105.

. ARG eI (B M T I
TR @G f&em aRaas & e

el 8 -

(1) =t (2) "ga

(3) WS (4) Tt

fre Rer & @9 @ e & '

¥ 7gf T S 7

(1) g & s

(2) SAfaRead et #1 s

(3) e w1 s

4) T & Siaw 2 # s

U R (et @1 U e e
STfed IEaH S @ AEN) H AT
ST B

(1) A" Theror &

(2) Vi T g0 g’

(3) &K $MT G I

(4) T Bl €Y g4&0T

U O O REhR-EE B
Saaqae 2020 far T § ¢

(1) TR BF T P A

(2) SIS B FEe €M (370
ai{lgoQ'{:[oQ'qo)

(3) It T H@eE

(4) U9 fasafeene™ IuerTe

g R #H WEEyel UV aw

fafs’ e ot Feam ? -

(1) FHEEEge  (2) WA

(3) g CYRSEM

AEgeT Hl AS-TT AT 36D 3

gﬁwﬁaﬁa@q ¥

(1) ufeart &=

(2) 9MMT 9

(3) Sifeq (%) AR

(4) affr-erg
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100.

101.

102.

103.

104.

105.

[A]

Ability to change direction rapidly
during movement in response to
outside stimuli is termed as :

(1) Speed (2) Balance

(3) Flexibility (4) Agility

Which theory is not considered as a
theory of play ?

(1) Experience theory

(2) Surplus energy theory

(3) Anticipatory theory

(4) Play is life theory

Muscles strength (maximum amount
of force a muscle or muscle group
can count) can be measured with :

(1) Rogers test

(2) Stork stand test

(3) Ruler drop test

(4) Queens college stop test

Rashtriya Khel Protsahan Puruskar-

Sports for Development 2020 has

been given to :

(1) Air Force Sports Control Board

(2) International Institute of Sports
Management (I.I.S.M.)

(3) Army Sports Institute

(4) Punjab University Chandigarh

A major nutrient in human body
called 'Lipid' is also known as :

(1) Carbohydrate (2) Protein
(3) Fat (4) Mineral

Lead-up activity should be given to
trainees just after :

(1) Competitive Match

(2) General Load

(3) Crest Load

(4) Warming-up

P.T.O.



[A]

106.

107.

108.

109.

110.

111.

ITEEY A% 3 qE R4 ®

(1) Mg R & fasme o
(2) ARTROTHS AT |
(3) X T fog= d

(4) @ §ew H

O # ST R 9 A Sedre &
fRraia @t sfoarfea feam o -

(1) ST g

(2) fEmTEr T e

(3) IE

(4) STfhHEsT

AT SS9 H A TH & ¢

(1) HEE-31Y IS

(2) dlo WHo ST

(3) ReThice E2a

(4) g5H-g IS

I (Federation International
Football ~Association) @I Y&
fRer ®

(1) o, Rageras

(2) UR™, wid

(3) g, Rageraie

(4) gfe|, SR

SUETE Hl Awed T S ReR el
q FI S , HEel @

(1) W T Fee™

(2) SN g A

(3) T=SRN T SRWISHM

(4) TSN 9 BRUUSHH

TRE Rew & &1 § 39 & T«
Ted U BE H “qiash I A6 SR
FA B HH-9 FHA FH EE TG

A GHRET BT ?
(1) daiftd (2) UEicrs WS
(3) TR (4) ThamEA
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106.

107.

108.

109.

110.

111.

Abraham Maslow has contributed in
the field of :

(1) Human Anatomy

(2) Motivational Psychology
(3) Kinesiology

(4) Sports Organisation
Principle of Buoyancy used in
swimming is established by :

(1) Isaac Newton

(2) Leonardo da Vinci

(3) Aristotle

(4) Archimedes

Quetelet Index is also known as :
(1) Height-Age Index

(2) B. M. Index

(3) Skinfold Index

(4) Weight-Age Index

The headquarter of FIFA (Federation
International Football Association) is
located at :

(1) Lausane, Switzerland

(2) Paris, France

(3) Zurich, Switzerland

(4) Berlin, Germany

Movement of forearm upside down
with static elbow, is known as :

(1) Flexion & Extension

(2) Pronation & Supination

(3) Abduction & Hyperabduction
(4) Adduction & Hyperadduction

Being a physical education teacher
which hormones optimum secretion
should be assured in your student
just before the match to provide him
"Runners High Feel" ?

(1) Endorphins (2) Anabolic steroid
(3) Aspirin (4) Amphetamine



112.

113.

114.

115.

116.

117.

ol 3SA Y G-2021 H AR
el oA S ?

(1) YEmser, SAfsar

(2) Yega, sRamm

(3) e, B

(4) TaTEr, er|w

Gaeia dlel oq & 9™ arl TENS
(Z) &t ok ® -

(1) ARG & FeFid

(2) TR & ST

(3) Fradd & ofia

(4) SAFRRG & SR

TR & TiweTee giife 7 qRIiw
W B SR T B STTER e 7
(1) TN IR eRY TAHC

(2) Rt &R AT

(3) S9d A(HART TAZY TAHE

(4) R et gAme

= § § 1 STRT A9 H A 787

g7

(i) sroTET (ii) Afq
(iii) e (iv) T|

(v) A (vi) TEER
(1) idvi (2) iii T iv
B)iidv (4) i 9 vi

e Aver 7 e el @ @uives
T U R & ode Sar an S w
A FN T BB g A

(1) 88.08 HeXx (2) 80.06 Hiex
(3) 86.08 Hex (4) 88.06 HeX

qRAT GERE I s empEN @
foe Fawer B 7

(1) g I A

@) 3 () 1

(3) el & AR

(4) BY B AHIA
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112.

113.

114.

115.

116.

117.

[A]

Khelo India Youth Games-2021 will
be hosted in :

(1) Bhubneshwar, Odisha

(2) Panchkula, Haryana

(3) Kurukshetra, Haryana

(4) Guwahati, Assam

TENS Therapy for sports injury
comes under :

(1) Cryotherapy

(2) Hydrotherapy

(3) Criptotherapy

(4) Electrotherapy

In which knockout type tournament
looser team can play again ?

(1) Bagnal wild type tournament

(2) Single league tournament

(3) Double knockout type tournament
(4) Single knockout tournament

Which of the following are mnot
included in Ashtang Yoga ?

(1) Pranayam (i) Dhoti

(i11) Niyam (iv) Yama

(v) Neti (vi) Pratyahar

(1) 1&vi (2) 1i &iv
B)ii&v (4) i & vi

Neeraj Chopra has won Asian
Games Gold Medal with a new

national record. Distance travelled
by his Javelin was :

(1) 88.08 meter (2) 80.06 meter
(3) 86.08 meter (4) 88.06 meter

Bicep femoris muscle is the prime
mover of :

(1) Knee flexing

(2) Dorsi flexing

(3) Elbow flexing

(4) Shoulder flexing

P.T.O.



[A]

118.

119.

120.

121.

gAdlipd @8 ST gT ¢

e 1 e 11

L % I. fpbe
M uedEEe I 3| M9
N 9 I11. ST&hesta
0O dm V. e+

(1) L-I, M-III, N-II, O-1V
(2) L-III, M-II, N-1IV, O-1
(3) L-1II, M-IV, N-I1, O-1
(4) L-I, M-I, N-1I11, O-1V

JRARAT § G9IEE &0 qReed B
11 O T R 5 A 2
el & ¢

(1) R % A= (AR 9fern)

(2) HfSrerer e

(3) SR e

(4) gmereT AT (Sfrerer i AE)
29w fvw O # v IR weha el
G T GOSN (& S ?

(1) wfveBt =

(2) T FA

(3) AR TEET

(4) HHAA Hedl

g% dicd & FATAN ARG (e &
M B ¢ -

(1) e af=, i, dbe i

(2) IR fheiw, @, e

W%‘éﬁ% EEREIN]
3) @R, § q9g A ,
Afoe =R

(4) I fheg, | e,
Hep
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118.

119.

120.

121.

Match the correct answer :

Column I Column I

L  Dunk I.  Cricket

M  Expedite II. Table Tennis
N Ace III. Basketball

O  Beemer IV. Tennis

(1) L-I, M-III, N-II, O-1V
(2) L-III, M-II, N-IV, O-1
(3) L-III, M-IV, N-II, O-1
(4) L-I, M-II, N-II1, O-1V
The quantity of training overload

calculated as frequency and times
duration is called :

(1) Load volume
(2) Training capacity
(3) Training crest
(4) Training volume

Who is the first table tennis player to
win Rajiv Gandhi Khel Ratna Award ?
(1) Manika Batra

(2) Sharath Kamal

(3) Madhurika Patkar

(4) Kamlesh Mehta

According to Book Walter three
objectives of Physical Education are :

(1) Ethical  character, Culture,
Neuromuscular development

(2) Physical fitness, Health,
Emotional balance

(3) Health, worthy use of leisure
time, Ethical character

(4) Physical fitness, Social efficiency,
Culture



122.

123.

124.

125.

126.

STAURONHS d el TG Bl Gerdl
q FERE g gked gesie & aeea
H Fed & :

(1) A fFger

(2) ST HET

(3) G YT

(4) TR YT

ol H e Gigge & OReE =R
T ST I B :

(1) 7 =% (2) o =%

(3) A (4) A T
WHEAE AIFA Bl A% (hiored
U, R H GRGE 9
eIl | Hee foese ot ¢

(1) S8, 1996

(2) R, 1995

(3) =R, 1995

(4) IR, 1996

LGS IR 11 1 G e o B T ) | G o
T 1 T8 ot

(1) Befe R X a1

(2) s wEE &}

(3) FSTH BN
ORFIEERICKICEFR]
aMaras i fhar ff mer @ Ao §
T oT TaTH e A AT R 7

(1) 1988 foda st
(2) 1984 TreuRied Ui
(3) 1960 I Wit

(4) 2000 fos eNafusw
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122.

123.

124.

125.

126.

[A]

Ability to perform controlled &
determined movement with the help
of perceptual motor coordination is
called :

(1) Mental dexterity

(2) Killing instinct

(3) Emotional dexterity

(4) Physical dexterity

Preparatory phase of training module
in sports is also known as :

(1) Micro cycle (2) Macro cycle
(3) Meso cycle (4) Mono cycle
Laxmi Bai National College of
Physical Education, Gwalior was
delinked from Sports Authority of
India in :

(1) January, 1996

(2) September, 1995

(3) December, 1995

(4) October, 1996

First Sport psychology laboratory
was founded by :

(1) Frederic Skinner

(2) Sigmund Freud

(3) Carl Diem

(4) Petrovich Pavlov

Table Tennis discipline was introduced
first time in any category of Olympic
during :

(1) 1988 Seoul Olympics

(2) 1984 Losangels Paralympics

(3) 1960 Rome Paralympics

(4) 2000 Sydney Olympics

P.T.O.



[A]

127.

128.

129.

130.

e 3y g oifed ARt g
WoE et & e @ @
freifa wm & gems § 7

(1) 9R g GAROT =h

(2) HARFM T SFIHTT Hh

(3) 9 SN # T

(4) A9 T QT TGN Th

Freiidiaga aifver & 9% §4e

gﬁﬂ'\f:

A HieH 11

L ®diftmg L W 3 o 9
M Feqg I T©H @ o Ash
N mfe I a3 & O
O MmE 1v. gz & Ted h

(1) L-I, M-II, N-I1II, O-1V
(2) L-III, M-IV, N-1, O-1I
(3) L-II, M-III, N-1, O-1V
(4) L-IV, M-I, N-11I, O-11

W o H HE g geas wH

SUIRT YA B &9 &El ST T Har

g, @ SUH TS w9 el

At # & g

(i) IR A e W o @M

(ii)gfﬁﬁ?ﬁqs?rwﬁraﬂﬁﬁﬂmﬁ
[

(iii) ToEH= AR W § g B4

(iv) IO & WFA st 9 TR )
B

(1) i, iii, iv (2) i, i, iii

(3) i, iv, iii 4) i, iv, ii
YIS TN & ded IgIeEd
sl ol &
(1) FEHR
(3) THEH
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127.

128.

129.

130.

Melatonin and Serotonin secretion in
pineal gland helps in maintaining
which cycle of the trainee ?

(1) Load and recovery cycle

(2) Learning and adaptation cycle
(3) Sleep awake cycle

(4) Diet and Nutrition absorption
cycle

Match the perfect combination from
the table :

Column I Column I1

L  Soleus L.
M  Sarratus II.
III.
O  Trapezius IV.
(1) L-I, M-II, N-III, O-1V
(2) LI, M-IV, N-1, O-II
(3) L-II, M-III, N-I, O-1V
(4) L-IV, M-I, N-III, O-II

Rear leg muscle
Rear neck muscle
N  Hamstring Lower leg muscle

Rear Tarso muscle

Which set of statements defines best

when players want to move to right

side through footwork in a racket

game ?

(1) Initial load remain on left leg.

(i1) Left leg moves first followed by
the right leg.

(i11)) Centre of gravity falls away
from base of support.

(iv) Weight transfer should happen
from left to right.

(2) 1,1i, il

4) i,iv,ii

(1) 1,11, iv
3) 1,1v, 1l
Gastroenemius muscle comes under
this structural classification :

(1) Circular
(3) Unipennate (4) Fusiform

(2) Bipennate



131.

132.

133.

134.

135.

32 yiaftesTt & §f § of|ius SER
W AifeT onuiRa offeaq  dwre
QRET &l Id T8 JHT

() Oidedr Hig Taed ) F

(i) TE0 9IS IiEd 7 H

(iii) & €ie 7 'Y |

(iv) 3Tedt Hig omed @ |

(v) T4l GiS 9eNeEd € |

(vi) Traet He T=ied ) A

(vii) Zhargal 98 ghded 8Y |
(viii) et G Tqd =) A

(1) ii, iv, vi, vii  (2) i, ii, v, vii
(3) ii, iv, vi, viii (4) i, ii, vi, viii
T F IO 9eRh &N Mg 9
| & @ AT B PeT S ©

(1) &3 R (2) o Hro o
(3) FiSah HRRI(4) i dicgH
‘TR 1 AIO R S ®
(1) 99 SifeRiHIex gl

(2) TFATHE &/

(3) wfeqdfex g™

(4) gHMERET 3

T g faeniedl § 8N A g
YT B B A BT 8 -

(1) fofgss era (2) Wgdla® I
(3) dftess ST (4) HEAEIT aA
g‘oq@awﬁﬁﬁww-w
(1) STeg @

(2) GFRT HaraT

(3) dR® Fad

(4) PRDHT TG
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131.

132.

133.

134.

135.

[A]

In a draw of 32 entries select most
probable posting combination as per
seeding in Olympic system :

(i) 16" Seed 32™ House

(i) 2" Seed 32" House

(iii) 9" Seed 9" House

(iv) 8" Seed 8" House

(v) 10" Seed 18™ House

(vi) 5™ Seed 25™ House

(vii) 31" Seed 31* House

(viii) 5™ Seed 10™ House

(1) i1, iv, vi, vii  (2) 1, 1i, v, vii

(3) ii, iv, vi, viii (4) 1, 1i, vi, viii
Amount of Blood ejected from the
ventricles with each beat of the heart
is called :

(1) Heart Rate (2) E.C.G.

(3) Cardiac cycle (4) Stroke volume

Hypoxemia is measured by :
(1) Pulse oximeter

(2) Sphagnomenometer
(3) Stadiometer

(4) Thermometer

Main cause of tiresome feeling in the
sportsman is the secretion of :

(1) Citric acid
(3) Lactic acid

(2) Pyruvic acid
(4) Synovial fluid
The exchange of gases between
lungs and blood :

(1) External Respiration

(2) Pulmonary Ventilation

(3) Internal Respiration

(4) Cellular Respiration

P.T.O.
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136

137.

138.

139.

140.

141.

G &l S 98 W dHeard
2
(1) ™A A g REa
(2) T 1 FEA T
(3) SIS & J99 s
(4) SIS B TH HETd
gfs AR f9 oERa IvgE SR
W 9 o6 § 99 &9 o 2
(1) 9=shl =6 (2) shT =k
(3) HEl T (4) T 6

JUEE URRA & iRl g Sfer
ANNT B T ST FHelt H AT & :

(1) dafd (2) TR
(3) EEUEEIH  (4) dEmtg
g B9 § WE 3 WK orar Rew
B Aag 9 fodt Raardl @ o9 d@
T & BT H R |

(1) degRE (2) S

(3) EheHe (4) =D

TH TN FH ABeTee SRt § 12
U4 a4 g5 & & WA
® B o WevS | g fhad f= ad
S ?

(1) 68 (2) 112
(3) 292 (4) 144

ARAT T TREBIT &l WO &l TR
o :

(1) 16 Sadl, 1984

(2) 16 ==, 1983

(3) 16 3T, 1982

(4) 25 S¥Ed, 1984
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136.

137.

138.

139.

140.

141.

Law of conservation of energy is
also known as :

(1) Third Law of Thermodynamics
(2) Second Law of Motion

(3) First Law of Thermodynamics
(4) First Law of Lever

More emphasis on tactical and match
oriented training is imparted during :
(1) Micro cycle (2) Macro cycle
(3) Meso cycle (4) Mono cycle
The measurement of heat energy

liberated or absorbed in metabolic
processes is :

(1) Caloriemetry (2) Spirometry
(3) Hypoxymetry (4) Ventilometry

Using own body or stick to prevent
an opponent from reaching the ball
in hockey is called :

(1) Obstruction (2) Carried
(3) Infringement (4) Blockage

In a league cum knockout tournament
where 12 groups of 4 teams and 4
groups of 5 teams each are
participating. How many matches
will be played in league rounds ?

(1) 68 (2) 112
(3) 292 4) 144
Sports Authority of India was

constituted on :

(1) 16 January, 1984
(2) 16 March, 1983

(3) 16 August, 1982
(4) 25 January, 1984



142.

143.

144.

145.

146.

G g JaT HEA S, AR G

g] A el dug. () @1 QU

9 ®

(1) <7 oifs BT 37 wWied

(2) T SARTEH ST @hiH

(3) T % « TS Wied

4) fefeq  offtsm 31 Wi
SIS

JeftieT ¥ 9T & S A B ¢

(1) 60 37 ¥ &4 § &N d 79 |

(2) 62T BN H T 61 3977 |

(3) 60 g &1 H g 61 39 7F |
(4) 61 ST H 9 60 39 97 §

Wi Tl B I STE-2020 B

fersameTt @t fam T ®

(1) TF 4fi%d, Th 3, Teeiie A
ST R

(2) W A, @ T W, TEe
g {YIT Heha

(3) T% A%, Th TN, THE o
ST TR

4) % IEfRE, T T W, T
A {YYT A

Jiqee  ofiraed 2026 ST
fpT TG

(1) -t

(2) ViHaH-N

(3) URE-wE

(4) ot UfSed-g.09.0.

T gE § BE-d Al e T8
S B 7

(1) f&aies (2) &

(3) & (4) de R
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142.

143.

144.

145.

146.

[A]

Full form of T.O.P.S. introduced by
ministry of sports & youth affairs,
Govt. of India is :

(1) Top of Performance in Sports

(2) Target Olympic Podium Scheme
(3) Test of Play and Sports

(4) Tremendous Operation

Performing Sports

in

Height of Net in Badminton :

(1) 60 inch from edge and centre

(2) 62 inch from edge and 61 inch
from centre

(3) 60 inch from edge and 61 inch
from centre

(4) 61 inch from edge and 60 inch
from centre

Recipient of Rajiv Gandhi Khel

Ratna Award-2020 has been given :

(1) A shreefal, A shawl, Cash prize
Rs. 25 Lakh

(2) A medallion, A certificate, Cash
prize Rs. 15 Lakh

(3) A shreefal, A shawl, Cash prize
Rs. 15 Lakh

(4) A medallion, A certificate, Cash
prize Rs. 25 Lakh

Olympic winter games 2026 will be
hosted by :

(1) Milan-Cortina

(2) Stockholm-Are

(3) Paris-France

(4) Los Angles-U.S.A.

Which style is not used in long
jump ?
(1) Hitchkick
(3) Sail

(2) Hang
(4) Scissor

P.T.O.
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147

148.

149.

150.

. SIF R & S E

(1) AR & S &

(2) YT & S &

(3) Hamtear & s &

(4) IZHa & R @

N S @ P FURIAT T &Y
(At gfdiear @ Ma w @Rd
P & HEANT ©

(1) T (2) g

(3) Tl (4) AT
aNafass #i A o § ?

(1) difeaw, wifcaw, Ueead

(2) I, AR, o

(3) WEARI, WG], THEAIE

(4) e, AT, &war

afear Raemfsdl & A @ & AR
BN Al e i YT

(1) 3R qwor g SeEsE | T &)

H GEEING fFA ST Ghar B 4
yes S=a AT ST HeRdl Bl

(2) W6 T H SMETHH § Big
RECICE

(3) Jafos  ®ed o @%
gEIRet § A dd 9T &%
iea Raee! 9es St g o

(4) TG o6 & ANH ST & &
@ off e W fOdvw | waE
A P PIg AR el Sil|

[30]

147.

148.

149.

150.

Jean Piaget propounded the theory of :
(1) Constructivism

(2) Cognitivism

(3) Constitution

(4) Emergence

A protein that accelerates the speed
of a chemical reaction without itself

being changed by the reaction is :

(1) Glucose (2) Neutrine

(3) Enzyme (4) Hormone

What are the values of Olympism ?
(1) Citius, Fortius, Altius

(2) Excellence, Respect, Friendship
(3) Brotherhood, Equality, Inclusion

(4) Power, Stamina, Strength

Find the myth related with menstrual

cycle of female players :

(1) Right nutrition and hydration
can manage abdominal pain and
increase performance.

(2) Self esteem has nothing to do

with menstrual cycle.

(3) Many girls have won medals

while competing in competitions

including Olympics.

(4) No need to consult a gynecologist

if experiencing unavoidable pain

in menstrual cycle.
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U b SR, SR Uoh § uiRd @Ml @1 Pl il 6. Answers to questions in answer sheet are to be given by
wge 9 9 AT 2, orr T S fexamar w2 darkening complete circle using Black ball point pen as

shown below :

® ® @ O @ B ®
(SRRl

3Mq gINT_faar T IR e ST, I IR AT The answer will be treated wrong, if it is marked, as given below :
A BT P TPR A R E & g

i3 o | SUET WHl $ WR T & Al TSI AR Terd If you fill more than one circle it will be treated as a wrong
HET ST | answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. X% B ‘;I'S:I—gﬁfidvl H 39 waoN ® fog & TS @rell g W& BN | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bacl OMR TR T3d WR 8l 3ifdhd P | 30 IR LIHYdd 3Afhd B | IR G 2g 29d Joid (Ahe Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. UAE T & fore Ry T g Rwedt # 9 3Ifaa fawer & fow OMR STR 956 W &de Uh gd &I & T RE Blof ard

wEge U9 9 W | U6 IR SR Afhd F9 & 915 99 gl 78l ol AhdTl ¥ 1 (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gad o {6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M 7 M | 3pgedi 301 IghHld SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT Td IR TS BT SAFYED JANT By, Fifd & aRRefT # (se—gRaer wd SR v9@ & HAie 3 e
o1 Rafq &1 Breaw) E;\Hﬂ U Eﬁ?ﬁﬂ e SUALT T8l FHRATS SITgT | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

W—W/W CEC fev U HHIG BT et TE TN I sFER de H ford | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

ameﬁaﬁqﬁmgm/amﬁmwsﬁ?mﬁqaa§aﬁrﬁaﬁﬁﬂﬁwaﬁm |Jrl, gfad A1 sRforiad BrTSl Bl
Ufedf, SR, AaIgd WF, Sdgiie UG I B 3 UBR B GEEH DI of S AT STAN HRA DI AT T8I © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TIed gRT I8 oM W UAd gl 30T Y%l & (I o) 3R Ugamd U= =i | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT wded B A SH‘T% P 77 DI el QAT I 7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PIRIRT YAAETH BT YOI STR UAP (U a1 v BeeR a1 WR IIART SRIER by {41 angedl uller sfe el uisi | afe
PRl ongefl 7 g AR BRMER 91 W BWER T8l by 1 I8 AF1 oMQ b I SR UAG T8l Al § AR I8
JfAd | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat gmr 9 w19 & o &1 feme
wrrmméligwmﬁsmmwwmmmﬁwmﬁswﬁﬂﬁmmﬁammmhmaﬁ
AT T A g8d 8 g 7 8 §gd | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagih / BTalferd URded & SUANT affd 8 | (Use of Electronic/Manual Calculator is prohibited.)

e 8T § SR & oy, sngefi fGarfrer § & v uftar /Ry g ars & @ el v fafaEr o ey eam v |
g WREl & W AWl @ BEen dis & Ml Ud fafRmi & SR BN (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W w9
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